EARAZROREIERT — 2 N—XBISY —F 20125E386H () 19@EAFH2H

mT—/(‘/zj‘——y’%\i"g (hRZH) Ho7FR4mE ‘ [XM&] # ‘ (egEmml - | & (5 12000 F&
[A&4£] 17 :4,000,000 23 :1,200,000 33 :800,000 4 7% :480,000 @ . 5 7 :320,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
y .2 t 5 | RHRA 1:12.0 2-2 37.4| — 2 488 | BRE (K3H)
1ol 7/ 7>>ay ¥ 57.0 =) (-6) | RII=E8
RHIRG 4 TTR BIRYTREYR L wA fi2—
o N Rt 112, — . — SIE=ER (KFH)
5 3| XTH—T H o4 g 1(142)8 6-6 37.6 1 (4_525) Bl
R:T7yv3Is3—L B:T5FFI1>7 eSS
o e — BEHA : = - EF#HZ (KH)
3 1ol hv 7952 o4 s 1(71%:? 3-3 38.2 3 (4_926) ficion
LY IRG4 TSR BikyITE—Fy b Ev2ie]
i . 5 | XH&EZ 1:13.1 8-8 37.6| — 7 507 | ZREEER (haR)
4 6 d—v1 <=7 s 57.0Lil 1) ) I(’ﬁ) INTF—L
L:TVHA RIS N BiEI-XJIRT 4 INTF—L
s Lo 4 o4 | EBHZ 1:13.2 10-9 37.5| — 5 492 | BEBIER (KFH)
5|5/ L—¥—-EZa> 57.0 (1/2) oy | R Tr-ZrEVar
LT A ITLFNRTF— BT RLX =7 KEFHS
A 4 | REX 1:13.2 4-5 38.3| — 9 415 | SHEEE (hR)
6 2 | TATRXLTH — " 57.0 (7E) (c17) | FIZH—EZX W)
L:FLI /PR BEd—E-—*XLT4 L HEHS
S RS 4 4 | FlBEX 1:13.5 1-1 39.0| — 4 M1 | BEE=S (FR)
7 5|97 Koy =7 55.0 (1 3/4) 4s) | B) 77> FHus
L:ZXF¥v> B:ZL/ 74T ng Rr—
AZF—1gt : - — Wil (K#)
8 NETEES 23 6 2 171?:? 7-7 38.3 12 (4;2) %A%E%—
R:Z2Gr T hA—T7—K—FK B:T1I K7 it RS
S H% 4 4 | AIEEE 1:13.8 13-12 37.8| — 6 487 | BEREZ (KH)
98|14 ZhIN—F 55.0 (3/4) g | B TuY
LTANKTyYa B:TUFa—HrHr 21455
. — s 4 | AEHED 1:14.0 4-4 39.1| — 8 415 | BEEE (BR)
1011 | 1 HhTY)—XLTF 1 — 55.0J (1 1/4) +1) (B) HrEEERS
L:Tw TRy b BTz 7=V HFEEERS
S N 4 g | EEKREH 1:14.5 11-10 38.7| — 13 477 | RIUBE ()iK)
1117111 a—Z>N\—=7 57.0 (2 1/2) (-5) fH) BB
R:Za—A>77>F B:O-5>7 1 R/N— ke
. N Hi2aE : = — FEFRA (PR)
b NELPERESY o4 L (12.115/.20) 12-13  |39.0 10 <4+726) ik
&:Eurosilver £ :Mari Go Round Green Gates Farm
5 B4 | HEfE— 1:15.3 9-11 39.7| — 1| 450 | BIERHAE (Psk)
13]6|7 | 7IXTAF I 5.0 1172 ) | B TIxTr—n
LY by THY Big—3FNTTT— FIXTT— LI
=K # 6 | HEERE 2:10.4 14-14 (701 | — 14 | 476 |ZBFE—BR (hR)
14/8/18 ¥ ¥ 77 FLAF 57.0 (51%) Coe) | ATEM
L:7Y4FAL MK BY-F1 TN =Eizse
® 1—F—@EBIERL
13—7-—
2o=5"=
Ja=5= 5,10,12,(1,2),3,4,6,7,8,11,9,14,13
43—+ — 5,10,12,1,2,3,4,6,8,11,7,14,9,13
[ N5
B 10 400M 714K 3-10 210 e E 3-6 390M JEE 3-10-12 1,010
B B 10 140M 10-12 420 e B 6-3 1,250 3EE 10-3-12 6,560
3 1004 3-12 350M B & 3-10 410M
12 170 B H 10-3 1,300

ABICOVWTRDTEEERROODE. TR LIV,



